Z:\Clients\Wincore PERMANENT\B - (2018) Texas Dept of Ins\DR-XXXX SGD 8400\C - Drawings\TX-5286.dwg

WINDOWS & DOORS ™

250 Staunton Turnpike, Parkersburg, WV 26104

Series 8400

Vinyl Sliding Patio Door

"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS

The Wincore Sliding Glass Door described herein complies with the 2018 International

Residential Code (IRC), Sections R301 & R609 and the 2018 Infernational Building

Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following

conditions:

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond roof covering.
When used in areas requiring wind-borne debris protection this product is

1.

2.

required fo be protected with an impact resistant covering that complies with

Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

Conditions not covered by this drawing are subject to further engineering

analysis.

TABLE OF CONTENTS

SHEET#

DESCRIPTION

Typical elevation, design pressures & general notes

Horizontal cross sections

Vertical cross sections

Frame anchoring

g |WIN|—

Bill of materials, glazing detail & components

48.63" MAX. PANEL

96" MAX. OVERALL FRAME WIDTH

-

WIDTH
41.63" MAX.D.L.O.
WIDTH
/ /
Vi ///
/ /
5
o T =
T I
¥ £ 9
S @ g
=z 9
2 £ 3 X
g X
< 2
5 = =
2 2 3
S X @
<
/ /
4 Va
/ /
L Water Bar Required

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

SLIDING GLASS DOORS
PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

ESIGN PRESSURE (PSF):

NOJ DATE

DATE: 9/01/22

96.0" x 96.0"

48.63" X 91.63" | 41.63" X 85.5"

G1

+50.0

-55.0

SCALE:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
TX-5286

SHEET _1 oF 5

© 2022 R.W. BUILDING CONSULTANTS INC.



. Z:\Clients\Wincore PERMANENT\B - (2018) Texas Dept of Ins\DR-XXXX SGD 8400\C - Drawings\TX-5286.dwg

B\

Gl

A\}

39

INTERIOR

EXEROR (53
40

INTERIOR

_\
A\)

EXT./
SHEATHING

A
(6 I 4 10
”A'A’I"’Av.

o e —| O

EXTERIOR

m HORIZONTAL CROSS SECTION

(RZYVXXZT IR

—— <
".’.-,:z,l-n KZ7R
I coa reoay "
LRI od

N

74

45)(26

34) (H

/ DRYWALL

(=

Q —=| |~—5/8"MIN.

A ————

\LEXT.
SHEATHING

7”2\ HORIZONTAL CROSS SECTION

W Shown w/ optional strap anchor

25PNy
STiEd a9l

pi 719
ngﬁj& ju
%% 1z}
o0 10
AP X 0
R oS SO
Ill‘?«)c wi2

lh ¥.__l

T

/ DRYWALL

EXT.
SHEATHING

uj

aQ

o 0

Jo B &

Ex - J

S .8z

Nu Om [C]

W 2. F

w
- o

5 EIE g

o 0% 3

}: <23 o

gl— FTW0 =

2 ago O
=] 5 0

>n

n” - [
Zow o

3 gR. &

@ oNE: o
0 Xz

o o L
z

g 9mg o
24 fa)

P 3ot g

o o

@ S o

-

c

o e;

E g

3

[3}

0

a

CERTIFICATE OF REGISTRATION # F—11852

Y
S (%)
o =
Q =0
S
0 ZO
2 |5 o&
N FIEN
(O] S| KW
w OW
O | TO
2 |9 x
o 815 °©
.| @
§ n |o
el |&
o o
>_
mn
0
z
@)
%]
4
e
<
o
o
pd
oAaTE: 9/01/22
SCALE:  N.T.S.
DWG. BY: LFS
CHK. BY: RW
DRAWING NO.:
TX-5286

SHEET 2 OoF 5

© 2022 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Wincore PERMANENT\B - (2018) Texas Dept of Ins\DR-XXXX SGD 8400\C - Drawings\TX-5286.dwg

EXT.
SHEATHING

/
\
:

DRYWALL

S

i

29

INTERIOR

\

|
e

peey

EXTERIOR INTERIOR @

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 Psl)
WOOD (SG >=0.42)

/" 2"\ VERTICAL CROSS SECTION
3

NE

71"\ VERTICAL CROSS SECTION
3

20
19

FLOOR SUBSTRATE MATERIAL
CONCRETE (MIN. 3000 PSI)
WOOD (SG >=0.42)

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

EXTERIOR INTERIOR

sC )

P.O. Box 230 Valrico FL. 33595

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By:

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

SLIDING GLASS DOORS
PART OR ASSEMBLY:

PRODUCT:

WOOD

CONCRETE

7“3\ VERTICAL CROSS SECTION

REVISIONS

NOJ DATE

DATE: 9/01/22

W Shown w/ optional strap anchor

NOTE: MAX. DP =+ 50 PSF WHEN
USING THE OPTIONAL STRAP ANCHOR

SCALE:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

DRAWING NO.:
TX-5286

SHEET _3 oF _5

© 2022 R.W. BUILDING CONSULTANTS INC.



“ON| SLINVLINSNOJ aNIaTing ‘M'd 2202 @

2S8LL—d # NOLWMLSIORY 40 ILVOLILNIO 5 SNOISIASY 905N
SHIANIONI TYNOISS340¥d 40 a¥vos Svxal o . 0
L6L6°6S9°CL8 "ON euoud OZEOIO.W_M_M“M&I.‘mO Lavd ﬂ m MB._ DW“ m M_
S6GEE ™14 O9HIDA OEZ Xog °‘O'd &K : aof P 40
"ONI ‘SINVLINSNOO ONIaTINg < NEN 4_
S¥00d SSY19 9NIArs o |&|& g =
SZLYOL# '3'd SVX3L m m S| w ]
*3'd ‘PlWYDS 4 uopuk :Ag peipdeud sjuswnooq 119NAa0¥d Z|8 W 5z =
o
e
a ('dAL) _ |
e | — ('dAl) .9 "D'0 XVW.Zl
=
P}
! _ _ _ _ _ _ I
7 -— Rl
} <
=
OF
T
2 5
w
I/.m.l.l ]
Vl.
=
OF
<C
L
T
(L)
] — m
[
R . S
]
S =
= S A
1T
— - M
L :
—_ (24 (NN}
Eg Q i
® :Wl QO an ﬁDu
£ Z
—— g2 -5 ¢
~ -
~h o0l
; : oC
7%} (%] —
2 M| @k =
<C
L
< T
I | | | | | |
7
< \\
zg < )
=T e =
g = =
il A
55 32
= o
<o
=2Q
wog
<Zo
&=y
Qu
=S
N9 oz
oz O ()]
0z0O
OO
T O

Bmp9gzs-X1\sBUIMIQ - J\00F8 ADS XXXX-HA\su| 40 3daq sexaL (8102) - B\LNINVINYI 8102UIM\SIUBID\Z



Z:\Clients\Wincore PERMANENT\B - (2018) Texas Dept of Ins\DR-XXXX SGD 8400\C - Drawings\TX-5286.dwg

BILL OF MATERIALS

M | bescripmion MATERIAL
B | 2X FRAMING (SG >=0.42) WOOD
C | 1/4" MAX. SHIM SPACE -
F | #10X2"'PHWOOD SCREW (1-1/2" MIN. EMB.) STEEL
H |#10x5/8"FH SMS STEEL
P [1/4"PFH ELCO OR ITW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL
1 | FRAME HEAD* PVC
2 | #8 x 2-3/4" FH QUADREX WOOD SCREW STEEL
3 | WEATHERSTRIP (SCHLEGEL #HF-7522-270) =
4 | HEAD TRACK* PVC
5 | STILE & RAIL* PVC
6 | SETTING BLOCK -
7 | SILICONE (SIKA 552) SILICONE
8 | DURASEAL SPACER SYSTEM =
9 | SHIM -
10 | TANDEM WHEEL NYLON
11 | ROLLING RAIL ALUM
12 | SILL* PVC
14 | SILL PLUG* NYLON
15 | SILL WEATHERSEAL -
17 | MOBILE SASH SUPPORT GASKET -
19 | #8 X 5/8" PAN HEAD, SQUARE, SELF-DRILLING SCREW STEEL
20 | OUTSIDE SILL CLADDING ALUM
22 | INSECT STOP -
23 | SCREEN -
26 | ANCHOR STRAP STEEL
27 | SCREW CAP* NYLON
28 | GLAZING BEAD* PVC
29 | FOAM PLUG -
30 | HEAD WEATHERSEAL -
31 | #8 X 1-1/4" PAN HEAD, QUADREX, SCREW STEEL

* THE APPROVED WHITE RIGID PVC EXTERIOR EXTRUSIONS FOR WINDOWS ARE TO BE PRODUCED
BY EXTRUDERS LICENSEES IN "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS".

0.5"
GLASS BITE

o

— 1" O.A. THICK GLASS

1/8" ANNEALED GLASS
. 0.030" SAFLEX®PVB INTERLAYER

:\ 1/8" ANNEALED GLASS
\
T~ AR SPACE

S 3/16" TEMPERED GLASS

1/

N SS SS SS_ NN

F&—]
—

s—

g ®

GLAZING DETAIL

(=~

32 | SASH STOPPER EPDM
33 | WEATHERSTRIP =
34 | FRAME JAMB* PVC
35 | WEATHERSTRIP -
38 | RECESS HANDLE NYLON
39 | HANDLE KIT STEEL
40 | OPERATING PANEL SIDE STILE* PVC
41 | MOBILE PANEL SUPPORT* PVC
42 | KEEPER FOR SCREEN -
43 | #4 X 5/8" PAN HEAD QUADREX SCREW STEEL
44 | #10 X 2-1/2" PPH SCREW (1-3/16" MIN. EMBEDMENT) STEEL
45 | #10 X 1-3/4" PPH SCREW (1-3/16" MIN. EMBEDMENT) STEEL
46 | STAINLESS STEEL DOUBLE POINT MORTISE LOCK KIT STEEL
47 | SASH COVERING CAP* PVC
48 | LOCK PLUG NYLON
50 | STILE REINFORCEMENT (CS TYPE B HOT DIPPED GALV.) STEEL
51 | #8 X 2" TRUSS HEAD QUADREX SCREW STEEL
52 | INTERLOCK ALUM
53 | STILE REINFORCEMENT (CS TYPE B HOT DIPPED GALV.) STEEL
54 | Q-LON WEATHERSTRIP (SCHLEGEL NO. QEZ 345) .
55 | WATER BAR STEEL
56 | #8 X 1" PPH SMS SS
i: - 3‘25" 3.] 7" i
s 3 — 113 —| 0.08" —T=]
! &
| o "’__)
: lllollyo Ol 2 =) |
I | 035 1 @ STILE, RAIL
T W= % ' 227"
3 . ANCHOR STRAP 3 *L;SLLF
o o
005" ——f~— & a
—_— N
R —— — g |
< 5 REINFORCEMENT e ey |
L S stile INTERLOCK
=is . @'t

. GLAZING BEAD

0.08"

(::) WATER BAR

.

@)
0.08" —=—{|=—

L

)

H

)

=00 J
2.71"

< : ) FRAME HEAD

",:"CCC\?‘,\_\ i
P ©R
oy '.,.":!::{ 3 _‘;; "
S 15 JIE2 w i
Fos  ixd M
q~: 191 Aui 6B BT
-~ - A7 D8 N d z ZI
o 2y {3, .3 W = ;n fi
?JO:'. 6:% ) .l c -dg ;(-'*
P iGH N §§ £33 2z
i, 121 57 558 g
0He B bl ) n>n “E
l‘! *.‘!:5. Q‘_\:w ZOoOm %
AR e 3 3R. zo
aShhuay @ ¢ ouw
0 Xz |
NlE Z38, S4
o 8 .€ a4
& 502 €
& oo 86
m
— 108" 2 § E
5 Q ; E
E [T}
& a S (8]
H (1)
0.08" — N 8
g
O]
. REINFORCEMENT -
- - %) NE
Meeting rail & =
o) ]
o -
a )
g
8 |y =32
S |3 ES
o |3 &
201" =] Zl =
! o |o =
= Q =
RO |y § [d5E
O ~J 14
8| ® |o| 45
—=—{[=—0.09 o) £l @
) & =
[ -
: m
% C=
~
It )
@
2
—[= =
] 2
x
S
. FRAME JAMB
W | E
5.44 | =
a
& 2
(8 =

- 236" a‘

|{—

DATE: 9/01/22

SCALE:  N.T.S.

DWG. BY: LFS

CHK. BY: RW

(: :) FRAME SILL

?

DRAWING NO.:
TX-5286

SHEET _ 5 oF _§

@ 2022 R.W. BUILDING CONSULTANTS INC.



